WIS



109. SUMMHED 12.9.24 \$0252145

Invoice

INV-7181

Invoice Date: 8/26/2024 Due Date: 9/25/2024

Terms: Net 30

Bill To

Sales Order #

Hall County PO Box 1435 Gainesville GA 30503-1435 United States Ship To

Purchase Order #

Hall County PO Box 1435 Gainesville GA 30503-1435 United States AMOUNT DUE

Sales Rep

\$12,165.00

## **SEE NEW REMITTANCE INFORMATION**

SO100015293			•	
Item @		Quantity	Rate	Amount
GO-PR-IN-SWA-INDEX-TRAN Daily Indexing - Deeds		2,262	\$2.25	\$5,089.50
<b>GO-PR-IN-SWA-INDEX-TRAN</b> Daily Indexing - Lien		731	\$2,25	\$1,644.75
<b>GO-PR-IN-SWA-INDEX-TRAN</b> Daily Indexing - Plat		64	\$2.25	\$144.00
GO-PR-CF-FE-TRANS-TRAN County Fusion-Per Document		3,021	\$1.75	\$5,286.75
Memo		Sul	btotal	\$12,165.00
Jul-24		Tax Total (0%)		\$0.00
	Shipping Cost		g Cost	\$0.00
		Total Less Payments/Credits		\$12,165.00
				-\$0.00
		Total Amoun	nt Due	\$12,165.00



Invoice

**INV-7478** 

Invoice Date: 9/30/2024 Due Date: 10/30/2024

Terms: Net 30

Bill To

Hall County PO Box 1435 Gainesville GA 30503-1435 United States Ship To

Hall County PO Box 1435 Gainesville GA 30503-1435 United States **AMOUNT DUE** 

\$21,912.00

## **SEE NEW REMITTANCE INFORMATION**

<b>Sales Order #</b> SO100015405	Purchase Order # Aug 2024	s es de de Pe	Sales Rep	
Item		Quantity	tera dita da vida di Ra	nte Amount
GO-PR-IN-SWA-INDEX-TRAN Daily Indexing - Deeds		1,961	\$2.	25 \$4,412.25
GO-PR-IN-SWA-INDEX-TRAN Daily Indexing - Lien		3,456	\$2.	25 \$7,776.00
GO-PR-IN-SWA-INDEX-TRAN Daily Indexing - Plat		47	\$2.	25 \$105.75
GO-PR-CF-FE-TRANS-TRAN County Fusion-Per Document		5,496	\$1.	75 \$9,618.00
Memo			Subtotal	\$21,912.00
Aug 2024		Tax Total (0%) Shipping Cost Total		\$0.00
				\$0.00
				\$21,912.00
		Less Payments/Credits		-\$0.00
		Total	Amount Due	\$21,912.00



## Invoice

INV-7788

Invoice Date: 10/25/2024 Due Date: 11/24/2024

Terms: Net 30

**BIII** To

Hall County PO Box 1435 Gainesville GA 30503-1435 United States Ship To

Hall County PO Box 1435 Gainesville GA 30503-1435 United States **AMOUNT DUE** 

\$10,713.75

Sales Order #

SO100015594

Purchase Order # Sept 2024 Sales Rep

Item		Quantity	Ra	ite Amount	
GO-PR-IN-SWA Daily Indexing	· · ·	1,801	\$2.7	25 \$4,052.25	
<b>GO-PR-IN-SWA</b> Daily Indexing		789	\$2	25 \$1,775.25	
GO-PR-IN-SWA Daily Indexing		46	\$2.	25 \$103.50	
GO-PR-CF-FE-T County Fusion-		2,733	\$1.`	75 \$4,782.75	
Memo			Subtotal \$10		
Sept 2024			Tax Total (0%) \$0.00		
			Shipping Cost		
		Total \$10,713.75			
		Less Pay	Less Payments/Credits		
		最後の 第二章 <b>でで</b>	al Amount Due	\$10,713. <b>7</b> 5	



## Invoice

INV-8128

Invoice Date: 12/3/2024 Due Date: 1/2/2025

\$11,579.50

Terms: Net 30

Bill To

Hall County PO Box 1435 Gainesville GA 30503-1435 United States Ship To

Hall County PO Box 1435 Gainesville GA 30503-1435 United States AMOUNT DUE

\$11,579.50

Sales Order #

SO100015789

Purchase Or	der#
Oct 2024	

**Sales Rep** 

**Total Amount Due** 

Item	are in restricting in the colling quantity	Rate	Amount
GO-PR-IN-SWA-INDEX-TRAN Daily Indexing - Deeds	2,117	\$2.25	\$4,763.25
GO-PR-IN-SWA-INDEX-TRAN Daily Indexing - Lien	580	\$2.25	\$1,305.00
GO-PR-IN-SWA-INDEX-TRAN Daily Indexing - Plat	85	\$2.25	\$191.25
GO-PR-CF-FE-TRANS-TRAN County Fusion-Per Document	3,040	\$1.75	\$5,320.00
Memo		Subtotal	\$11,579.50
Oct 2024	Tax Total (0%)		\$0.00
		Shipping Cost	
	q Ass	Total	\$11,579.50
	Less Pay	Less Payments/Credits	